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1) Characteristics:

Determine the following:
L. e s AL

y-intercept: (0.)5)

Range: (f”) q-]_

Verlox, - (=a,9.)

Vertex form: ='(X:*2)1+ 9
Intercept form: _Y ==( X+5)(x-1)
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-’ tuxt5

Standard form: l:l) -

e R Determine the following:
-t | zeroes:_X=°5 x= -

D) LRI y-intercept: (0,5)
B R J Range: E—H)W)
l ! ! _ Vertex: (—’3)—"ﬂ
L | Vertexform: Y = et -4
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3) State the tre ions that have occurred to the parent function, and stafe

the vertex.

y=2(x+4)°+

| R 3 kvl—e; (@ (-+#)

S Lef+4
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S) The parent function f(x) = x? is reflected over the x-axis, vertically shrunk by a factor
of = > and translated left 2 units o create function g(x). Use the descrlphon to write the
qucdrohc function g(x) in vertex form.

=34 j(m= .~ (x+2>
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6) Write a quadratic function in vertex fornﬂ “j &

o that has a vertex below the x-axis: o X, 9 'j: a (X 'h)?@

| : ] = = "' Kv
o that has a vertex above the x-axis: _ W = X,z 172 'j a(x h)z )

} > () J *
T v vertical
a vertex on the x-axis: b( ()C Z) £ j GL(X,' \ +0 gh:-FT'
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10) Identify the vertex of this parabola. Wiite the equation in vertex form and standard
form. K81+
bei s %, B 4 a

- o e 5L e B0 »
L RR L Vertex formt ,_ﬁ_

L MNTIEEI AL

= xl_" |J\X 'rq'o

. Standard form
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he graph shown below. = 4 |

v R RS = x,_a) -

"*‘ _—l — || Vertex form:
J‘I]‘ -_3— Intercept f
__l_f S’rondor'd form:il«lzx-“'(ﬂx*g i
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13) Solve by any method:| “s¢ ory |

ReoctS M2 — 17 = 85. li__l.o_%—-
Squane ReSD i - X< %
u(3x-)"= 102 (3c- D

14) Solve by comple’ﬂng the squore x?+4x =8
xZtiy +4 = g+t

a2

15) Solve by any method:

x% +2x =8 1%
o)) 70 = 2|

16) Solve the inequadlities, state your final answer in interval notation:

Q. -X2+ 6x + 7>qsvlg'?z
X-bx-7< 0
(- = ©
D D——>
d o tx<35\|[5 2] e,060+x235
bxz+x_35‘ r’'tx-3520 )C+gx+57 o
x="% x=7 -8 2 [ 1 -y IS
(2x+5 )(3x- 7) 0 - x
B TWw  False Thae 2N
X = -4 i
*;:vf,gjue on the graph below? e I omon= T
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) , 5=—|(x+0§"+3
y = et R vertex (03

Find the vertex, and state the type of exirema,

()~ ey

19) Write a quadratic function has an axis of symmetry of x = 5 and
a minimum value of -22

Solving: Solve each equation by factoring.

2 2 2
X -3IXtT=0 1) r**=—8x-7 _ 2) ¥* - 13x=—42 X -13x+4a=0°
(c-D(x-1) =0 =
pilon+21=0 3) 7 =-21-10n

[n+7)(,n+3)-° ih‘ 'z 'E

7) 5¢F - 19r=-12 Br lan+i2=0 \lz 8).’3}) +8=14p =<
(5v - qy, LN oan (Bp* +14pte) =° 24

*‘7-""‘13!' 10) $20p+42=3
m ‘7 +20p+100 = -39 +|00
pile= -+5 Jz‘pi-lc))
. = -10t ]!
xZ+iox+as = 34125 12) n -2n-42=-7
; ﬁ?-w—t n“-an+ | =35%" n=1tb

=-51Q (n-D"=30
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Qi’@ 4(3x-1) -17=85
Y(3c-1)(3x-1) - 102 =0
4 (ax? -bx +1) 162 = 0

3ox* - 24y +H4-102 =0
Zux*-a4y -98 =0
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I8x?-12x ~4q =0
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